Module 7: Stoichiometry 

Topic 5 Application: Calculating Percent Yield

One of the most important breakthroughs in the study of chemistry resulted from the work of Antoine Lavoisier. He was one of the first chemists to realize the importance of careful measurements of all substances in a reaction. In fact, he was so interested in careful measurements that he invented his own balance which was correct to within 0.0005 grams. His careful measurements led to the finding that the mass of the reactants must always equal the mass of the products. His discovery of the Law of Conservation of Mass is why we now refer to him as the Father of Modern Chemistry.

Some of Lavoisier’s most important measurements involved combustion reactions. One of the reactions he performed and measured was the reaction of hydrogen and oxygen to form water: 2H2 + O2→ 2H2O. Use the information from this topic to answer the questions below. Make sure to show all of your work. 

1. If Lavoisier reacted 168 liters of hydrogen at STP and produced 13.5 grams of water, what was his percent yield? 
2. 35.0 liters of oxygen was reacted with excess hydrogen to produce 48.0 grams of water.  What is the percent yield? 
3. 79.0 grams of water was produced with a percent yield of 75.0%.  How many grams of oxygen did he start with? 
4. 2.00 moles of oxygen gas at STP will produce how many grams of water, if the percent yield is 82.0%?
[image: image1.jpg]Q
whro

EDUCATION





